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Photosynthesis and Cellular Respiration
Test
Part A
Directions: Please choose the correct answer by circling your choice or filling in the blanks. 

1. Please Identify the following equations as photosynthesis or cellular respiration
(1) C6H12O6 + O2 ATP + H2O + CO2 
___________________________________
(2) H2O + CO2 + Sun Light  C6H12O6 + O2
___________________________________

2.  What type of energy is used in photosynthesis? _______________________________
3. What type of energy is produced by photosynthesis? ___________________________
4. What type of energy is used in cellular respiration? _____________________________
5. What type of energy is produced by cellular respiration? _________________________
6. In what organelle does cellular respiration take place? ___________________________
7. In what organelle does photosynthesis take place? ______________________________
8. What Gas is created by photosynthesis? _______________________________________
9. What Gas is created by cellular respiration? ____________________________________
10. What type of organism does photosynthesis? ___________________________________









Part B
Answer all questions in this part. [30]
Directions (11–25): For each statement or question, write on your separate answer sheet the number of the word or expression that, of those given, best completes the statement or answers the question.

11. 
12. A green plant is kept in a brightly lighted area for 48 hours. What will most likely occur if the light intensity is then reduced slightly during the next 48 hours?
(1) Photosynthesis will stop completely. 
(2) The rate at which nitrogen is used by the plant will increase. 
(3) The rate at which oxygen is released from the plant will decrease. 
(4) Glucose production inside each plant cell will increase.

13. An inorganic molecule required by green plants for the process of photosynthesis is 
(1) oxygen 
(2) starch 
(3) carbon dioxide 
(4) glucose

14. Which activity occurs in the process of photosynthesis?
(1) Chemical energy from organic molecules is converted into light energy. 
(2) Organic molecules are obtained from the environment. 
(3) Organic molecules are converted into inorganic food molecules. 
(4) Light energy is converted into the chemical energy of organic molecules.







15. An organism was added to a test tube containing water, which was then sealed and placed in sunlight. The graph shows an increase in the oxygen content of the test tube over a period of time. Which type of organism was most probably added to the test tube? [image: http://castlelearning.com/review/Courses/le/bio153.gif]
(1) fresh-water animal 
(2) green alga 
(3) ameba 
(4) virus


16. The main result of aerobic respiration is the
(1) conversion of radiant energy into chemical energy 
(2) production of lactic acid as an end product 
(3) storage of energy in a polysaccharide 
(4) production of ATP from the breakdown of glucose







17. 
18. The graphs below show the changes in the relative concentrations of two gases in the air surrounding a group of mice.
[image: http://castlelearning.com/review/Courses/le/q2058.gif]
Which process in the mice most likely accounts for the changes shown?
(1) active transport 
(2) evaporation 
(3) respiration 
(4) photosynthesis




19. Which substance is needed for aerobic cellular respiration to occur?
(1) oxygen 
(2) carbon dioxide 
(3) nitrogen 
(4) methane

20. The transfer of energy from nutrients to ATP is accomplished most directly by the process of
(1) cyclosis 
(2) diffusion 
(3) cellular respiration 
(4) glucose synthesis

21. Which process is represented by the arrow in the diagram
[image: http://castlelearning.com/review/Courses/le/bio301.gif]
(1) growth 
(2) respiration 
(3) regulation 
(4) excretion







22. The equation below represents a summary of a biological process.

carbon dioxide + water → glucose + water + oxygen

This process is completed in
(1) mitochondria
(2) ribosomes
(3) cell membranes
(4) chloroplasts

23. The diagram shows a mitochondrion. All the arrows are associated with the process of
[image: http://castlelearning.com/review/Courses/le/BIO406.gif]
(1) carbon fixation 
(2) photochemical reaction 
(3) synthesis 
(4) aerobic respiration





24. Eating a sweet potato provides energy for human metabolic processes.  The original source of this energy is the energy
(1) in protein molecules stored within the potato
(2) from starch molecules absorbed by the potato plant
(3) made available by photosynthesis
(4) in vitamins and minerals found in the soil

25. Much of the carbon dioxide produced by algae is not excreted as a metabolic waste because it
(1) can be used for photosynthesis 
(2) cannot pass through cell membranes 
(3) is needed for aerobic respiration 
(4) is used for the hydrolysis of proteins



26. The dense needles of Douglas fir trees can prevent most light from reaching the forest floor. This situation would have the most immediate effect on
(1) producers 
(2) carnivores 
(3) herbivores 
(4) decomposers



27. ATP is a compound that is synthesized when 
(1) chemical bonds between carbon atoms are formed during photosynthesis 
(2) energy stored in chemical bonds is released during cellular respiration 
(3) energy stored in nitrogen is released, forming amino acids 
(4) digestive enzymes break amino acids into smaller parts





















Part C
                Answer all questions in this part.
 (
For Teacher
Use Only
)Base your answer to the question on the word equation below and on your knowledge of biology.
[image: http://castlelearning.com/review/Courses/le/cr6.gif] 
28. Name the molecule represented by letter X. [1]
 (
26. 
)       ______________________________________________________________
       ______________________________________________________________ 

Base your answer to questions 27-28 on the information and diagram and on your knowledge of biology. The diagram represents a system in a space station that includes a tank containing algae. 
[image: http://castlelearning.com/review/Courses/le/le010371.gif]
29. Identify one process being controlled in the setup shown in the diagram. [1]
 (
27. 
)      ______________________________________________________________
       ____________________________________________________________________

30. State two changes in the chemical composition of the space station atmosphere that would result from turning on more lights. [2]
 (
28. 
)      ______________________________________________________________
       ____________________________________________________________________
Carbon exists in a simple organic molecule in a leaf and in an inorganic molecule in the air that humans exhale.

31. Identify the simple organic molecule formed in the leaf and the process that produces it. [1]
 (
29. 
)       ______________________________________________________________
         ____________________________________________________________________
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